BEBREIJILOXE BSFAURY—H5T

JL—H : 20174058128 BLAR—IL BHO—X 3.5.6.7.8.9 10.13.14.15.16.17
BBAX A TR T mAa—X 1.2.3.4.5.7 11.12.13.14.16. 18
IN— D&t IN— D&t N—T3
JIE 4L K £ 1 2| 3] 4] GROSS | HDGCP NET JIE 5z K £ 1 2| 31 4| GROSS | HDCP NET JIE 52 K £ 1 21 3] 4] GROSS | HDCP NET
*1|ARER R 39 | 37 76 1.2 68. 8 61 | K& =0 43 | 48 91 15.6 75.4 121 |F8 BFBHE 51 | 55 106 27.6 78.4
*2|Btt  FIBH 44 | 37 81 10.8 70.2 62 184X HiF 46 | 45 91 15.6 75.4 122 |IBK EBR 39 | 42 81 2.4 78.6
*x3|@E BB 43 | M1 84 13.2 70.8 63 [FEFT 1# 49 | 48 97 21.6 75.4 123 |[&2A & 53 | 46 99 20.4 78.6
4 (AR B 45 | 38 83 12.0 71.0 64 |F L = 52 | 51 103 27.6 75.4 124 | %+ #H=E 53 | 46 99 20.4 78.6
*5AK 188 43 | 39 82 10.8 71.2 65 |WERE & 41 | 37 78 2.4 75.6 125 |88 HRE 52 | 53 105 26.4 78.6
6 |[#AE HBE 48 | 40 88 16.8 71.2 66 |ithE #4588 36 | 42 78 2.4 75.6 126 |Mn@E 7%BEA 45 | 46 91 12.0 79.0
*x7|EHE EiEi 39 |40 79 1.2 71.8 67 |88 K#0 39 | 45 84 8.4 75.6 127 |IBE % 53 | 50 103 24.0 79.0
8 [HlF B 39 140 79 1.2 71.8 68 |iXH ABE 40 | 44 84 8.4 75.6 128 (R T 54 | 49 103 24.0 79.0
9 [{EFT Bi#EX 42 | 43 85 13.2 71.8 69 | L3 m=RsR 43 | 41 84 8.4 75.6 129 4%t =& 61 | 58 119 40.0 79.0
* 10| FIE 44 | 47 91 19.2 71.8 *J0A  FEHKF 55 | 53 108 32.4 75.6 || *130|85 K HULVF 52 | 50 102 22.8 79.2
11 (A Al 47 | 49 96 24.0 72.0 11 |BEA X 41 | 42 83 1.2 75.8 131 |de)il @k 52 | 56 108 28.8 79.2
12 |[f8 IEFR 43 | 46 89 16.8 12.2 12 |\l —# 40 | 43 83 1.2 75.8 132 |h#t FE 54 | 54 108 28.8 79.2
13 ATy EE 38 | 43 81 8.4 72.6 BNFZE EB 47 | 42 89 13.2 75.8 133 |8 & 51 | 50 101 21.6 79.4
4 |E2x WS 43 | 44 87 14. 4 72.6 14 |F#R Fif 46 | 49 95 19.2 75.8 134 |BEKR RE 47 | 47 94 14. 4 79.6
15 |EH B&F 54 1 45 99 26.4 72. 6 15 |mEE =% 40 | 36 76 0.0 76.0 135 |BKR #hHZ= 47 | 47 94 14. 4 79.6
*16|F%FE &L _Rz2450 36|38 74 1.2 72.8 76 |FE =T 45 | 43 88 12.0 76.0 136 |$78 R4 55 | 57 112 32.4 79.6
17 |E =Rt 41 | 39 80 1.2 72.8 11 |42 #1917 42 | 45 87 10. 8 76.2 137 & #EX 44 | 43 87 1.2 79.8
18 |B&ZE 70 39 | 41 80 1.2 72.8 18 Bl Fi 48 | 45 93 16.8 76.2 138 |FEEF #FOiE 51 | 48 99 19.2 79.8
19 & &= 44 | 1 85 12.0 73.0 19 [BXK =X 48 | 45 93 16.8 76.2 139 |182% 1(E— 46 | 53 99 19.2 79.8
*20[;08 BE— 42 | 49 91 18.0 73.0 *80|JIl# HEX 52 | 53 105 28.8 76.2 || *140|AF FiE 45 | 47 92 12.0 80.0
21 |BHE & 46 | 45 91 18.0 73.0 81 [lua &5 41 | 45 86 9.6 76. 4 141 |E#E FEH 47 | 45 92 12.0 80.0
22 [ A% 38 1 40 78 4.8 73.2 82 |EHE W&F 49 | 43 92 15.6 76.4 142 |45 FEI# 49 | 49 98 18.0 80.0
23 i & 46 | 38 84 10.8 73.2 83 |BiI ®A 47 | 51 98 21.6 76.4 143 |1E)Il =28 53 | 51 104 24.0 80.0
24 [plh FZ= 42 | M1 83 9.6 73.4 84 (LB ¥ 46 | 52 98 21.6 76.4 144 B+ S 55 | 55 110 30.0 80.0
25 |1=Z8 = 46 | 37 83 9.6 73.4 8 | H = 49 | 49 98 21.6 76.4 145 |2l EBF 61 | 55 116 36.0 80.0
26 (2K E|EA 40 | 43 83 9.6 73.4 86 X 1E— 52 | 46 98 21.6 76.4 146 |JII#E IEA 47 | 50 97 16.8 80.2
21 [T BH 46 | 43 89 15.6 73.4 87 |XE =& 52 | 46 98 21.6 76.4 147 |®R i 46 | 50 96 15.6 80.4
28 |ZE =i 38 | 38 76 2.4 73. 6 88 it —hk 43 | 42 85 8.4 76. 6 148 |Bi5 = 43 | 53 96 15.6 80.4
29 |db&+ EBEE 52 | 48 100 26.4 73.6 89 |=EE FE 41 | 44 85 8.4 76.6 149 (aiH EFRHER 51 | 51 102 21.6 80.4
*30|FERK Eth 45 | 42 87 13.2 73.8 K 90|EE)I FEX 44 | 47 91 14.4 76.6 || %150|E@ HE 43 | 52 95 14. 4 80.6
31 (AR & 43 | 44 87 13.2 73.8 91 |IFH AH 46 | 51 97 20.4 76. 6 151 [ =REF 52 | 55 107 26.4 80.6
32 |BHA@ AA 45 | 42 87 13.2 73.8 92 |4t =E 48 | 49 97 20.4 76. 6 152 | KilF M3 58 | 54 112 31.2 80.8
33 [ERE ¥ 44 |1 49 93 19.2 73.8 93 |HP IEX 44 | 53 97 20.4 76. 6 153 At & 56 | 49 105 24.0 81.0
4 [F FF= 48 | 45 93 19.2 73.8 9 |HE &E— 45 | 39 84 1.2 76. 8 154 | K% & 57 | 41 98 16.8 81.2
3 [ & 54 1 51 105 31.2 73.8 95 [ B 46 | 44 90 13.2 76.8 155 |HR 1IERE 53 | 50 103 21.6 81.4
36 [rHF =& 39 | 41 80 6.0 74.0 96 |FIIl FRiE 46 | 43 89 12.0 77.0 156 |dt& & 56 | 52 108 26.4 81.6
37 |[+5% @F 43 | 43 86 12.0 74.0 97 A Ez2iE 41 | 48 89 12.0 71.0 157 |Ti& 1B 43 | 52 95 13.2 81.8
38 |&Fx X 43 | 43 86 12.0 74.0 98 [ft EF 46 | 49 95 18.0 71.0 158 (hE E— 49 | 51 100 18.0 82.0
39 |ZNEF REE 45 | 47 92 18.0 74.0 9 BB EAF 48 | 47 95 18.0 71.0 159 (A =F 51 | 55 106 24.0 82.0
*40{ILA Fk 43 | 48 91 16.8 74.2 || *100|E L = 59 | 54 113 36.0 77.0 || *160|Fg)Il =F 57 | 55 112 30.0 82.0
41 | KT & 43 | 54 97 22.8 74.2 101 |AH EFHE 43 | 45 88 10. 8 11.2 161 (6@ IEZ 47 | 46 93 10. 8 82.2
42 [$8O 5& 40 | 38 78 3.6 74. 4 102 (4 A— 45 | 43 88 10.8 11.2 162 |ER &% 53 | 52 105 22.8 82.2
43 12X =EO 38 | 40 78 3.6 74. 4 103 |EKXH M4AE 43 | 44 87 9.6 11.4 163 |IUAR =Hh 56 | 53 109 26.4 82.6
44 el E 45 | 45 90 15.6 74. 4 104 |{FiE & 43 | 50 93 15.6 77.4 164 |/ 2 18F 50 | 52 102 19.2 82.8
45 = RER 48 | 42 90 15.6 74. 4 105 WEfE i&— 44 |1 49 93 15.6 11.4 165 (4T #Fk 51 | 56 107 24.0 83.0
46 |'HE E1T 36 | 41 71 2.4 74.6 106 |FEHE &— 48 | 45 93 15.6 77.4 166 |JII#E =& 51 | 61 112 28.8 83.2
47 |5t #EE 38 | 45 83 8.4 74. 6 107 |#r3k EZ 49 | 44 93 15.6 77.4 167 | = 50 | 43 93 9.6 83.4
48 |lUK X% 43 | 46 89 14. 4 74.6 108 |[BEKRK #x 50 | 49 99 21.6 11.4 168 |k =+ 58 | 58 116 32.4 83.6
49 |FnH Bk 48 | 47 95 20. 4 74.6 109 |#2E 1EEA 53 | 45 98 20.4 17.6 169 |EA [Ex 58 | 57 115 31.2 83.8
*50|F BX 49 | 52 101 26. 4 74. 6 *110|=JIl 8hSR 42 | 43 85 1.2 77.8 *170|# A IFE{E 44 | 55 99 14. 4 84.6
51 |H®E H=H 43 | 45 88 13.2 74.8 11 (0O FF 44 | 47 91 13.2 17.8 171 (il BF 54 | 51 105 20.4 84.6
b2 |AH EF] 45 | 43 88 13.2 74.8 12 |[£8 E— 49 | 48 97 19.2 17.8 172 |5t BEX 63 | 62 125 40.0 85.0
53 /B EiE 43 | 38 81 6.0 75.0 13 |59 RIE 47 | 37 84 6.0 78.0 173 | & B 51 | 58 109 22.8 86. 2
b4 [t 54 41 | 40 81 6.0 75.0 114 | KIE FE&EH 52 | 44 96 18.0 78.0 174 | KB —# 65 | 61 126 39.6 86. 4
b5 |88 Ezi# 44 | 49 93 18.0 75.0 115 |3RiE & 42 | M1 83 4.8 18.2 *175|BER = J—E—|60 |57 117 30.0 87.0
56 |&% E& 50 | 43 93 18.0 75.0 116 [ & 41 | 47 88 9.6 18. 4 176 |#H 63 | 78 141 40.0 101.0
57 &% = 43 | 43 86 10.8 15.2 17 [#FK EX 50 | 50 100 21.6 18. 4
b8 |EBER B 47 | 45 92 16.8 15.2 118 [HE &K 45 | 55 100 21.6 18. 4
59 |dk# HEHF 43 | 42 85 9.6 15. 4 119 [#A =B 47 | 53 100 21.6 18. 4
*60|EH BT 43 | 42 85 9.6 715.4 *120|F+ fli— 54 | 52 106 27.6 18. 4




